
Multiply by 10⁻² (G)Find each product.
4.495 × 10⁻² = 7.832 × 10⁻² =
1.839 × 10⁻² = 7.1681 × 10⁻² =
6.866 × 10⁻² = 9.52 × 10⁻² =
8.5 × 10⁻² = 1 × 10⁻² =
1.9 × 10⁻² = 0.2049 × 10⁻² =
3.3212 × 10⁻² = 5.59 × 10⁻² =
5.531 × 10⁻² = 1.7 × 10⁻² =
5.4109 × 10⁻² = 3.7 × 10⁻² =
1.4 × 10⁻² = 5.8 × 10⁻² =
2.7 × 10⁻² = 6.19 × 10⁻² =
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Multiply by 10⁻² (G) AnswersFind each product.
4.495 × 10⁻² = 0.04495 7.832 × 10⁻² = 0.07832
1.839 × 10⁻² = 0.01839 7.1681 × 10⁻² = 0.071681
6.866 × 10⁻² = 0.06866 9.52 × 10⁻² = 0.0952
8.5 × 10⁻² = 0.085 1 × 10⁻² = 0.01
1.9 × 10⁻² = 0.019 0.2049 × 10⁻² = 0.002049
3.3212 × 10⁻² = 0.033212 5.59 × 10⁻² = 0.0559
5.531 × 10⁻² = 0.05531 1.7 × 10⁻² = 0.017
5.4109 × 10⁻² = 0.054109 3.7 × 10⁻² = 0.037
1.4 × 10⁻² = 0.014 5.8 × 10⁻² = 0.058
2.7 × 10⁻² = 0.027 6.19 × 10⁻² = 0.0619
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